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ROONCH TR BB EBEZTEL,

(1) 04cm=0Cmm

(2) 08m=[Icm

(3) 24cm=[m

(4) 0.05m=Cmm

(5) 1.2m=0mm

(6) 26km=[Im

(7) 0.9km=[cm

(8) 250m=[Llkm

#z (1) 4 (2) 80 (3) 024 (4) 50 (5) 1200 (6) 2600 (7) 90000 (8) 0.25
(B8 1 DfEsEx]
mm cm m km
Tmm Tmm 0.7cm 0.001Tm 0.000001km
Tcm 10mm Tcm 0.0Tm 0.00001km
Tm 1000mm 100cm m 0.001km
Tkm 1000000mm 100000cm 1000m Tkm

(1)

(2)

(3)

Tcm=10mm7zZD . 04cm=0.4X10=4mm

TM=100cm7x D . 0.8mMm=0.8X100=80cm

Tm=100cm7&MD . 24cm=24--100=0.24m
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Tm=100cm7&DT. 0.05m=0.05X100=5cm
Tcm=10mm7EDC. 5cm=5X10=50mm

(BIl)

Tm=1000mm7&xMD . 0.05m=0.05X1000=50mm

TM=100cm7ZD T, 1.2m=1.2X100=120cm
Tem=10mm7EZMDC. 120cm=120X10=1200mm
(Blf)

TM=1000mm7EDC. 1.2m=12X1000=1200mm

Tkm=1000m7%MDC. 2.6km=2.6X1000=2600m

Tkm=1000m7& D, 0.9km=0.9X1000=900m
TM=100cm7x M. 900m=900X%100=90000cm

Tkm=1000m7%=DC. 250m=250-1000=0.25km
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BLESIe. 10062 E =2 %205, 100TEB ({1 2) & =4/ EEE I ICEH LE T,

256.0.0.0

10CE2 10/89 5
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(1)
(2)
(3)
(4)
(5)
(6)
(7)

1.5a0 =m?

0.7ha =[m?
1500m’= a

6000m*=[]

ha

1.2m’=[lcm?
0.03km’=CIm’
0.4km?’=[Jha

()28 2 DfEE]

Tcm

Tm

Tcm

Tcm
Tm

(1)

(2)

(3)

(4)

m’
I

10000cm’

10m
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FZ (1) 150 (2) 7000 (3) 15 (4) 06 (5) 12000 (6) 30000 (7) 40

10m

100m’

Ta (77—)b)

100m

Ta =10mX10m=100m’ &M 1.5a =1.5X100=150m’

100m

10000m’
I

Tha (N7 Z2—])

Tha =100m X 100m=10000m’ %MD 0.7ha =0.7X10000=7000m’

Ta =10mX10m=100m* 7DC 1500m*--100=15a

Tha =100m X 100m=10000m’ %MD 6000m*=6000--10000=0.6ha

Tkm

Tkm

2

Tkm
I

1000000m°
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(5)  Tm=100cm X 100cm=10000cm* 7=DC 1.2m’=1.2X10000=12000m"

(6)  Tkm’=1000mXx 1000m=1000000m" 7&=MC 0.03km*=0.03 X 1000000=30000m"

(7)  1km’=1000m X 1000m=1000000m* =D 0.4km’=0.4X1000000=400000m"
Tha =100m X 100m=10000m* 7= 400000m*=400000--10000=40ha
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ROONCH TR BB EBEZTEL,
(1) 08m’=[cm’
(2) 05m’=[IL
(3) 28L=0dL
(4) 30L=Cm’
(5) 180dL=[]L

0
NI

(1) 800000 (2) 500 (3) 280 (4) 0.03 (5) 18

()28 3 DfEE]

10cm

10cm

Tcm

10cm

1dL=100cm’ 1L=10dL

(1)

(2)

1L=1000cm’ 7xC 500000cm’=500000--1000=500L

(3)  1L=10dL =D 28L=28x10=280dL

1Tm’=100cm X 100cm X 100cm=1000000cm’ 7= C 0.8m’=0.8 X 1000000=800000cm’

Tm’=100cm X 100cm X 100cm=1000000cm’ 7= 0.5m’=0.5X1000000=500000cm’
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(4)  1m’=100cm X 100cm X 100cm=1000000cm’
TL=10cm X 10cm X 10cm=1000cm’
£27C Tm*=1000000--1000=1000L
1m’=1000L 7&MDC 30L=30--1000=0.03m’

(5) 1L=10dL =T 180dL=180+10=18L

e 4
ROONCH CITEBHEBZITEL,
(1) 03kg=[g
(2) 25g=[Tkg
ZZ (1) 300 (2) 0.025
(5118 4 DESH]

(1) 1kg=1000g75D . 0.3kg=0.3%x1000=300g

(2)  1kg=1000g75MDT. 25g=25-+1000=0.025kg
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a5
ROONCH T LD EEZTELN,
(1) 150 =054
(2) 1208 =018
(3) 0.0385@E=0%

(558 5 DfREH]
(1) 1EE=600%DT. 1509 =150-+60=2.505F

1
(2) 1BBE=6077EDT. 120%92263\:2%0:%5%?5

(3) 1BE=607750D7T. 0.03K=0.03X60=1.8%
19 =60M7EDT. 1.89=18xX60=108%

{528 & fEEhR

£2 (1) 25 (2) % (3) 108
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ROONCH TIETEDHEEZIZEL,
(1) BFEIm=2=m

(2) #R15m=FpRkm

(3) BEE432km=F&

ZA (1) 60 (2) 54 (3) 12

(528 6 DfREH]
(1) 19=60M7E0DT. MEIMX60=21E60m

(2)  192=60M72DT. #HR15mX60=237R900m
BRI =60275D T, 45RI00m X 60=KF®54000m = BFR54km

(3)  1BER=600750DT. BE43.2km+60=HE5%E43200m+60="%3%720m
19 =60R7ED T, 433720m+60=F3&K12m
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